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Q1) A) Fill in the blanks (attempt any 5 out of 6).  [5]
i) In _____ market, future sale and purchase of commodities will

take place at current time.
a) Forward b) International
c) Perfect d) Spot

ii) Farm management is an _______
a) Intrafarm science
b) Interfarm science
c) Inter - Regional farm science
d) International farm science

iii) _____ is adopted to desert condition.
a) Goats b) Buffaloes
c) Camels d) Cows

iv) External Commercial Borrowings (ECBs) form part of _____
a) Current account b) Capital account
c) Balance of payment d) Balance of trade

v) Productivity =
a) Input/Output b) Output/Input
c) Output-Input d) Input-Output

vi) Productivity is the ______ of production system.
a) Measurement
b) Efficiency
c) Measurment and Efficiency
d) Capital

P.T.O.
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B) Match the following. [5]

A B

i) Agricultural Risk a) FDI

ii) ICICI b) Price fluctuation

iii) Foreign capital c) Source of Industrial finance

iv) Canara bank d) Public sector

v) Operation flood e) Milk

Q2) Write a short notes on (any 2 out of 4) : [10]

a) Farm management.

b) Nature of Risk and Uncertainty in Agriculture.

c) Importance of Industrial finance.

d) Productivity measurment.

Q3) a) Explain the recent changes in farm management. [8]

b) Explain the strategies to manage the risk and uncertainty in Agriculture.[7]

Q4) a) Explain the need of foreign capital. [8]

b) State the factors affecting on productivity. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (ghmn¡H$s H$moUË¶mhr nmM) [5]

i) Á¶m ~mOmamV ^{dî¶mVrb dñVy§Mr IaoXr {dH«$s hmoVo Ë¶mg ............... ~mOma åhUVmV.

A) dm¶Xm ~) Am§Vaamḯ>r¶

H$) nyU© S>) hOa

ii) H¥$fr ì¶dñWmnZ ............... Amho.

A) B§Q´>m’$m‘© gm¶Ýg ~) Am§VaeoVr {dkmZ

H$) Am§Va-àmXo{eH$ eoVr {dkmZ S>) Am§Vaamï´>r¶ eoVr {dkmZ

iii) dmid§Q> pñWVrV ........... àmUr nmibm OmVmoo.

A) eoù¶m ~) åher

H$) C§Q> S>) Jm¶

iv) ~mø ì¶mdgm{¶H$ H$O© ................. Mm ^mJ ~ZVmV.

A) Mmby ImVo ~) ^m§S>dbr ImVo

H$) ì¶dhma Vmob S>) ì¶mnma Vmob

v) CËnmXH$Vm = ................

A) BZnyQ>/AmCQ>nyQ> ~) AmCQ>nyQ>/BZnyQ>

H$) AmCQ>nyQ>-BZnyQ> S>) BZnyQ>-AmCQ>nyQ>

vi) CËnmXZ àUmbrMr CËnmXH$Vm hr ........... Amho.

A) ‘moO‘mn ~) H$m¶©j‘Vm

H$) ‘moO‘mn Am{U H$m¶©j‘Vm S>) ^m§S>db
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~) OmoS²>¶m Owidm. [5]

A ~

i) H¥$fr YmoH$m A) naH$s¶ WoQ> Jw§VdUyH$ (FDI)

ii) Am¶.gr.Am¶.gr.Am¶. (ICICI) ~) qH$‘V MT>CVma

iii) naH$s¶ ^m§S>db H$) Am¡Úmo{JH$ {dÎmmMm ñÌmoV

iv) H°$Zam ~±H$ S>) gmd©O{ZH$ joÌ

v) Am°naoeZ âbS> B) XþY

à.à.à.à.à.2) {Q>nm {bhm. (Mman¡H$s H$moUË¶mhr XmoZ) [10]

A) eoVr ì¶dñWmnZ

~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVVoMo ñdê$n

H$) Am¡Úmo{JH$ {dÎmmMo ‘hÎd

S>) CËnmXH$Vm ‘mnZ

à.à.à.à.à.3) A) eoVr ì¶dñWmnZmVrb A{bH$S>À¶m H$mimVrb ~Xb ñnï> H$am. [8]

~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVÎmm ì¶dñWmnZmÀ¶m ì¶yhaMZm ñnï> H$am. [7]

à.à.à.à.à.4) A) naH$s¶ ^m§S>dbmMr JaO ñnï> H$am. [8]

~) CËnmXH$Îmoda n[aUm‘ H$aUmao KQ>H$ gm§Jm. [7]




